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" COMPUTER SCIENCE AND APPLICATION
| : | Theory) |

Full Marks : 70

. Pass Marks : 21

| ~ Time : Three hours

The figures in the margin indicate full mepp
Jor the questions. : , |

Q. No.1 carries 1 mark eqach..............coorrrrreeeen Ixg = g

Q. No. 2 carries 2 marks edch.............wewereeee 2x10 =g

Q. No. 3 carries 3 mqus each; ...... e consensnseetees 3%xQ = é7

Q. No. 4 carries § marks eqch..............mwsmreeeee 5x3 =15
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1. Answer any eight from -. ‘ o ‘ ’ - :
e ¢ following ; . 1xg8=8 - | () What is class member »
| T -t ofe eosm T g 3

Class ¥ member &2

| Class~4q member I
@) Who is 0OP?

- OOP I e ST N A C AT S '(g)". What is Relational Algebra »
OOP e N ~ ; SR o A -
M e o o C | o Relational Algebra Ry . _ .

OOP © instance 31 ' & W?, | o B
OOP-9  instance &S J| @RI ? v P (h) What is an Array ?
. . U , : ¥ Arra Sﬂmﬁ?‘?
(c) What is Data Encapsulation? : . y
Array W= $12

Data Encapsulation iy 2

Data Encapsulation i @t
‘ ' () What is Memory Allocation ?

- (d) What is Overloading ? | | ‘ ' |
o R R . Memory Allocation f&?
Overloading 7 . |
| Memory Allocation 92
Overloading FI?

(e) What is pestructor in OOP ? . ~ .‘ A G) What does FIFO mean to you ?

FIFO W& & I&te

OOP ® pestructor I &2
. FIFO ¥ R Ft @i

OOP-g Destructor T B2
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(k)] What is preprocessor directive? | . (b) Define Sorting.

Preprocessor directive &2 e Sorting I @l feray

Preprocessor directive 2 Sorting-4d B\ (FCR |

() What is Relational Database? - . .. ' () Define POSTFIX notation.

Relational Database ? 'POSTFIX notation-3 Sgest fya |

Relational Database 12 ‘ P,OSTFIXV notation-aa e EAL|

(d} ' State De-Morgan’s theorems.

(m) What is Topology ? - | ' | : ¥
Topélogy &2 De-Morgan I theo.rerﬁ (R S 4
Topology e De-Morgan—«ﬂﬁ .theore.m @ﬁ e .
: (e) What is the use of Optical Fibre ?
5. Answer any ten from the following: *2x10=20 |
o | : Optical Fibre ¥ J7qR &2
oo fr! rbr e T 8 | |

_ . - Okptical | Fibre-943 724 ¢
T - - 7l AT Y& IR ¢

() Describe Satellite Data Communication of NetWOrki
. ng.

" (@) Define Namespaces. . |
| . Networking ¥ Satellite Data Communication I
.g V e 1 : ﬁ?ﬁ“ Bl

' Network'ing-u‘lﬁ Satellite Data Communication ~qy T S

NMGSpaCCS"ﬂa Wm (SR |
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" g Wthat can a template in C++ do?

~ €++ © ol template q B 3R< sme

CH+q 3% template F FACS AG@?

. (W Define a Queue.
Queue 3 3K iGRl

Queye~gar kel ETCAT

() What is IOSTREAM ?
I0STREAM &7

IOSTREAM 17

ireless Commuunication ?

(l) . What..is W
' Wirelé's s Communicati_on E

' ereles S Communication 339
Bandyiath 3 9 0

Bandy;qth-4¥ <ef |

36/cscA e

() What is K-map.simplification ?
K-map.simpliﬁcatiOn T &

" K-map simplification Wz &e .
(m) What is the use of XML ?
XML T IR e
XML~ I 2
(n) What is Booléan algebra ? |
'Boolean algebra‘ 1533

Boolean algebra ST
(o) What is TCP/IP?.
TCP/IP R? - SEEN

TCP/IP 2

3. Answer any nine from the following: -

O At A6 o Tl o ¢
S\ Al T e e e 3

(a) Explain Constructor Overloading.

Constructor Overloading &f&RICH! ¢l 11

Constructor Ovérloading eifemfe 2 ﬁ?@fl

36 / CSCA | . (71

3x9=27

Contd.



. (b} Write the differences between Top-Down and Bottom-Up ‘ (). E '1 in th :Cl' g
: . v . (g xplain the Client side scripting.

approaches. : L ey . |
| ; ' R - Client-side s"éfipting 3 R T Bl

Client-side scripting-93 Ragy 11 TGl

Top-Down €<% Bottom-Up approach-qg, syl CTCR |
(c)- EXpla_m the POP and PUSH Operatlons in Stack (h) Write about Fhe logic gates.

Logic gate = Raca fyar)

f Stack3POPWT3=PUSH W@WWWI _
' Logic gate 96l It coreat|

- Stack-g3 POP &% PUSH-4 9 % W e
(d). Describe the Queue and its .Qperati(:)ns. | o : ‘M‘# | il ixplain. HTML.
! Q;eue.mmmaﬁWI. | | | . A HTML%W@%W|
Quene @@ <& e 3 WS | HTML &5 R T
ion Sorting. () Define DDL ar.1d DML.

(e) ‘Explain the Insertio
DDL W% DML T kel |

Insertion Sortlng('%' zﬁ hall
TInsertigy Sorting 3T A | DDL 3% DML~G% 5@ oyl |

Define tpe ‘columnt constraints in DBMS, : (k) Mention the uses of Co-axial cable.

DBMg 'q column constraints I W@} ), Co-axial cable I IRYPTR T T4 |

DBMg.qg column CONSUaints«¥ et ey Co-axial cable-ax IRk Ty w1
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() Differentiate one and two dimensional. arrays

One g Two d1mens1ona1 array 3 W ﬁm forat

. One &% Two dimensional array-aq aﬁ@ﬁ’i @«m l.

(m). Wnte about switching techmques

- Switching technlque 3 RE@ ﬁﬂ‘*ﬂl

Switching t’echnique:—ﬂ‘“?lt?lS (Al

4 Ansﬁfer any three from the follawmg;

R gtz fofst e T T ¢
ﬂm@mﬁﬁwwm

(a)' Explain different clauses used in SQL.

A
S 1 g e S clase T Rt e

| ' clause & TIE gt I |
SQL~g 3R i\?m fafe o |
OMAIN names.

ﬁﬂwwﬁﬁw

| Domam names <
| ot 1 A |

(b)) Explaip about-D’

36 / CSCA

' 5x3=15

(c)

(d)

Explain the Boolean operators.

Boolean operator @ﬁ? ﬁm W Wl |

Boolean operator off] oieE T Wl

-Write a pfogram in C++ to sort the numbers entered. by the

user. -

User ‘ﬂ famt ’RW sort ¥ WCH @aﬁm ot |

| User-wél’ﬂ; AT 2WE RGBT sort TR U C++q G0 coliE

V'CEI'C‘“l

(e)

e

Explam the difference between traversal and searching.

. | Traversal Wﬁo Searching 9 J&] HWW )

Traversal «?% Searching-G3 Y- grewef TN w1

() What are the differences between SMTP and POP3 protocols ?
SMTP &% POP3 protocol ¥ A ﬁw |
SMTP 3% POP3 protocol«® 4 #iida e
1
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